HAE FATEERE G (RHACRERILR)

WAATERE B (RHAORERIGR) (3. RHADRGETE (P 8 ARIAHHESS 106 75 [BAIRETR
DA WIET DL (12K IEAA DEARELED O RHAREILICSAE) 1285 AT
FT S N LIEIR T DO ERARPUZ DT E D F L Db D TH D,

B, BEATECRE ] (RHARERILR) 13, PRk I3 E T, RHARIEREE &V 5k
N UTeRERE T o723, Rk 14 SR DIE, FAATEEREFISHE Sz,

1 REETFAT

SR 2 EE IR D B o AR 102 £, 20 mRLLE 49 BN 0 10 55k Sk =R
1% 50. 7 T, BMFEIZEAATHSEIX 19 L, &3 10. 0 BN L 7=,

UM A D L RETITEE, BIZWICHER LT A2, R A K LT
Wb, £z, REROFEMFBIZIEEE LERXTHEFITEHLS RoTWND (F5-1, 5-1),

#5-1  FEEPAEE. FEMi%E (20~495% A 11075 %)

- EZ ES RS - FE ESRS
SR I AR IR = SR I R IR A2[H
HAFn35 562 135.3 78.7 15 69 23.4 5.0
40 350 86. 5 49. 2 16 72 28.5 5.7
45 149 38.6 27.0 17 60 24.9 5.0
50 109 29. 4 16.5 18 57 24.1 5.4
55 112 31.2 14.9 19 62 26. 4 5.5
60 85 24.1 12.3 20 61 26.3 5.9
ko 2 104 30.9 10.5 21 57 25.0 6.1
3 118 35. 8 9.7 22 64 28.17 6. 4
4 106 32. 4 8.9 23 92 41.8 6.6
5 99 30.5 7.9 24 83 38. 4 7.3
6 117 36.1 7.1 25 99 46.0 7.9
7 88 27.2 6.7 26 108 50. 9 8.3
8 94 28.7 6.0 27 100 47.7 9.1
9 114 35.5 7.1 28 94 44.5 9.8
10 113 35. 8 6.9 29 80 38.3 10.8
11 79 25.6 6.6 30 94 45. 4 11.4
12 68 23.1 6.4 St 83 40. 7 11.3
13 90 30.0 6.0 2 102 50. 7 11.8
14 84 28.3 5.5
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iEfn4 5
iEfns 5
e 0

FHL2

FRLT
EREL 2
EREL T
EREL B
EREL 9
EREZ O
ERz 1
ERE2 2
ERZ 3
ERC 4
ERE2 5
EREZ 6
ERE2 T
ERE2 8
ERE2 9
ERH3 0
HHROTS
Sfn e

9.8%, 24 ELLTFMN 1L.0%TH-7- (M5-3),
M5—3 TRNEFNERE OERIEEINEE (%)
2 AT 250 9m 35~3 98 40mLE

A WA A

30~3 458

Wl i A A A A

Wl i A

[

Ty

Py
WA

Fr g rry

Tl ra

]

VW FFFFTFFTFTFTFTTFTST

Y
Vi
Wi
Vi
Wi
|
[
d

ol i

]
N
\
N
\
N
\
N
\
N
\
|~.

il A,

AN

\
\
\
5

N
\
\
\
\
‘R
\
\
L] |

[(Fr r T r i

K.

= T
A
A
)

i
=3

10% 20% 30%

_45_



2 NIRRT

B2 IR DB - 72 NIRRT HEIE, 541 18, 15 melh b 49 kot A B Tt i =R
134.8 TH Y, A& H~ATHEIL 63 R L, FERESRITATE & T 0.5 384 Lz,

FEMEROF R A5 &, IKMHAICH D, REOFEMER LT 5 &, TFEIEeE
% FE>TWws (F£5-2, K5-4),

#5-2 ANTHEIRWBHEAE R, Sk (KPEAR TX)

Y B~ 5 i =8 vk B~ 5 Ji
BRI | SR | 2&F AR | SR | &F

i Fn 35 13, 427 61.8 42.0 15 1,601 11.0 11.2

401 9, 295 43.6 30. 2 16 1,439 10.0 10.6

45| 5, 808 28.6 24. 8 17 1,294 9.1 10. 3

50| 4, 547 23. 8 22.1 18 1, 240 9.1 9.9

55| 4,811 26. 4 19.5 19 1,279 9.5 9.3

60| 3, 845 21.6 17.8 20 900 6.8 8.8

Rk 2| 3,159 18.8 14.5 21 1, 096 8.5 8.2

3l 3,017 18.3 13.9 22 979 7.8 7.9

41 2,692 16.4 13.2 23 967 7.7 7.5

5 2,404 14.9 12.4 24 935 7.7 7.4

6] 2,381 14.8 11.8 25 903 7.4 7.0

71 2,107 13.2 11.1 26 817 6.8 6.9

8| 2,053 12.8 10.9 27 808 6.9 6.8

9 1, 990 12.6 11.0 28 708 6.0 6.5

10 1,919 12.4 11.0 29 737 6.3 6.4

11 1, 850 12.1 11.3 30 628 5.5 6.4

12 1, 749 12.0 11.7 [=Foc 604 5.3 6.2

13 1,831 12.3 11.8 2 541 4.8 5.8
k14 1, 796 12.1 11.4
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